Medway LEA Advisory Service

Energy and electricity/gravity and space

9I  & 9J

29 min

31 marks

Q1-L4, Q2-L4, Q3-L5, Q4-L6, Q5-L6

1.
(a)
(i)
four arrows, all towards the centre of the Earth
1
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all four arrows, correctly drawn, are required for the mark

the arrows may be drawn outside the Earth

(ii)
ball hanging towards the centre of the Earth at B, C and D
1

all three positions, B, C and D, are required for the mark

(b)
(i)
365 days
accept ‘365’
1

(ii)
24 hours
accept ‘24’
1

[4]

2.
(a)
(i)
5

1

(ii)
60

1

(iii)
thermal
accept ‘heat’
1

(b)
radio

1

(c)
light bulb
accept ‘bulb’ or ‘light’ or ‘lamp’
1

[5]

3.
(a)
(i)
circuit A: series

1
circuit B: parallel

both answers are required for the mark

(b)
(i)
the circuit or heating element will stop working
1

accept ‘it will not work’ or ‘it will be off’

accept ‘the whole circuit has no current through it’

accept ‘it becomes cooler’

do not accept ‘it breaks the heater or element or it’

(ii)
any one from

1

· the circuit or element will continue to work

· one wire will not heat the window

accept ‘the bottom one has no current through it’

‘nothing’ or ‘it will not be affected’ are insufficient

accept ‘it will work less well’

accept ‘the bottom wire becomes cooler’

do not accept ‘it becomes cooler’

do not accept ‘it does not work properly’

(c)
(i)
thermal accept ‘heat’

1

(ii)
from solid to liquid to gas

1

all three states are required for the mark

accept ‘from solid to liquid to vapour or steam’

accept ‘from ice to water to vapour or gas’

[5]

4.(a)
(i)
the dots for Mars, the Earth and Venus should be in a straight line, the 
1
shortest possible distance apart
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(ii)
any one from
1

· it is brightest 
accept ‘it is brighter’
· it looks biggest or bigger
accept ‘it is bigger’
accept ‘you can see it at night’

(b)
gravity
1

(c)
any one from
1

· it is circular

· it is always the same distance from the Earth

(d)
winter
1


any one from
1

· the Northern hemisphere is tilted away from

do not accept ‘the Earth is tilted the Sun away from the Sun’

· Britain is in the part of the Earth which is tilted away from the Sun

· the Sun’s rays hit the Earth at more of an angle

accept ‘the Sun appears lower in the sky’ angle 

accept ‘night is longer than day’
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5.
(a)
(i)
electrical to chemical [image: image3.wmf]
if more than one box is ticked, award no mark
1

(ii)
chemical to electrical to sound [image: image4.wmf]
1

if more than one box is ticked, award no mark

(b)
Q

1
R

1
P

1
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6.
(a)
The first marking point is for the transfer of energy from water to turbine.
The second marking point is for the transfer of energy from turbine to generator.
The third marking point is for the transfer of energy away from the generator.

any two from

2

· potential energy in the water to kinetic energy in the turbine

accept ‘P.E. to K.E.’
accept ‘transferred from the water to the turbine’
accept ‘K.E. in the water to K.E. in the turbine’
accept ‘P.E. in the water to K.E. in the water’

· kinetic energy in the turbine to kinetic energy in the generator

accept ‘transferred from the turbine to the generator’

· kinetic energy in the generator to electrical energy in the circuit

accept ‘KE. to electrical energy’
accept ‘from the generator to the circuit’
accept ‘transferred from the generator by electricity’
accept ‘KE. in the turbine to electrical energy in the circuit’
accept ‘potential energy in the water to electrical energy in the circuit’ for both marks 
accept ‘P.E. to electrical energy’ 
or ‘from the water to the circuit’ for one mark

(b)
any one from

1

· because the Moon’s pull or gravity is always there

· because the tides or the water cannot run out or be used up

accept ‘because there are tides every day’ 
or ‘because there is an endless supply’

(c)
• from wave energy or from the waves
1

accept ‘Ocean Thermal Energy Conversion’ or ‘OTEC’ 
do not accept ‘hydro-electric power’

(d)
it is easier to control or it can be turned on when it is needed
1

accept ‘the tides only give power at certain times’ or ‘you can build an oil-fired power station anywhere’ or ‘it is smaller`


any one from

· oil is non-renewable
accept ‘oil will run out’
· it causes pollution
accept ‘it gives out greenhouse gases’
or ‘it can cause oil spills’
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